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A. Complete these sentences with a word from the box. You may use each word more than once:

	         probably         maybe          perhaps      may         could           can’t


1. All the workers ..................... go on strike due to announced salary reductions. 
2. .................................. it will cost you more than you predict. 
3. Our products ............................... become less popular after we raise the prices.

4. AFG products ............................ cost more in the UK because of the cost of labour.









_______/4 pts.
B. Complete the text by putting the verbs in brackets into the present simple passive or the present simple active:

Managing Director Andrew Lane announced yesterday that profits at JMP, the clothing manufacturer, have fallen by half over the last 12 months. Lane also says that the company is going to close all its factories in Coventry. Currently, 490 staff ________________ (employ) by JMP in Coventry. In addition, a number of smaller local firms _________________ (support) by businesses from JMP and unfortunately they __________ (lose) the most because of such a decision. Lane says:’ We’re going to relocate to India. Clothing ______________ (manufacture) more efficiently in India than in the UK. There ___________ (be) also good availability of labour there. We need to cut costs in order to compete with our main rivals and to raise profits.’











_______/10 pts.

C. Use one of the following connectors to complete the following g sentences: 

as well 

in addition 

also

 too

1. In addition to his flat in London, he has a villa in Italy and a castle in Scotland.

2. Russia may call for economy restructuring, ........................
3. The Netherland is in the top five countries. England is .........................










_______/3 pts.

D.  Complete the gaps with the correct tense of the verbs RISE, RAISE or ARISE:
1. Production of CDs  .............................. slightly over the past 5 years.
2. Last year, a lot of problems ........................... because of change in administration.

3. The management ............................... our salaries by 2%. 
4. With our new team, we hope that our profits will ................................... next year.

5. Last year interest rates ................................, which came as a surprise to all of us. 









_____/ 10 pts.
E. Choose the correct expression and fill in the table below. 

1. That firm ____________ for bankruptcy last year. 

a) filed 

b) asked 


c) adopted 

2. Our company still has no dress ................................................... 

a) codex 

b) code 


c) codification
3. Their main ..................................... are out of market! 

a) competition 
b) competitors 

c) compete
4. They ............................................ him last year. 

a) hired

 b) took

 
c) employ
5. Coca Cola has ............................. a new product.  

a) started 

b) fired 


c) launched
	1.
	2.
	3.
	4.
	5.
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F.  Translate the following sentences:

1. Sales in Germany account for healthy 15% of total sales the company makes.  
...................................................................................................................................................................................................................................................................................................................................................................................................... ....................................................................................................................................................................................
2. All businesses are affected by economic recession, unexpected cuts and raw materials. 
...................................................................................................................................................................................................................................................................................................................................................................................................... ....................................................................................................................................................................................
3. Ne može biti da BigMac košta više u Lagosu zato što je tamo niska cijena rada.
...................................................................................................................................................................................................................................................................................................................................................................................................... ...................................................................................................................................................................................
4. Neke razlike u cijenama možemo da objasnimo različitim porezima u različitim zemljama. 
..........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
5. Novi generalni direktor kaže da će kompanija da smanji troškove i da zatvori svoje 
dvije fabrike u zapadnoj Evropi. 
...................................................................................................................................................................................................................................................................................................................................................................................................... ....................................................................................................................................................................................
6. Motori Vauxhall Sintre se prave u Velikoj Britaniji, a kola se prodaju u Americi pod
 imenom Pontiac.
...................................................................................................................................................................................................................................................................................................................................................................................................... ...................................................................................................................................................................................................
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